
Z750/S 07 > HUGGER  Part # 073511 

General Information.  

As with all huggers this model is designed to sit close to the tyre and should not be used with an oversized 

tyre. When fitting is complete the Hugger should sit centrally over the tyre when viewed from the rear.  The 

tolerance in the right hand side mounting bracket allows adjustment to achieve this. As with all accessories 

the mountings should be checked for tightness. 

*********************************************************************

CONTENTS: 

1 x 2 Piece strap bracket  

1 x m6 x 12 Allen bolt 

1 x m6 shake proof washer 

2 x m6 x 16mm Allen bolt 

2 x m6 washer 

CFK07327 

CBOLM60007 

CWASM60002 

CBOLM60008 

CWASM60003

Fitting Instructions: 

Undo the 3 Allen headed bolts & remove the chainguard. 

Hook the strap bracket over the swing arm, on the brake hose side, between the hose guide and 
the cross member.  

Slide the hugger into place from the rear right and loosely fasten with two of the original chainguard 
bolts.  

With the hugger on the outside of the strap bracket fasten with the bolts and back plate provided. 

Align the hugger by moving the box bracket back or forward along the swing arm. Tighten all the 
bolts.  

Notes: 

Check bolts and fittings regularly. 

We recommend Plexus Plastic Protect and Polish for guaranteeing the lifespan, colour and finish of 
our Huggers. 


